# A CHARACTERIZATION OF A BIVARIATE DISTRIBU-TION BY THE MARGINAL AND THE CONDITIONAL DISTRIBUTIONS OF THE SAME COMPONENT\*

BY V. SESHADRI and G. P. PATIL (Received May 6, 1963; revised Feb. 5, 1964)

#### 1. Introduction

The problem of determining a bivariate distribution of x and y with the knowledge of the marginal distribution of a component, say x, together with the conditional distributions of the same component x is a problem of the mixtures of distributions and their identifiability. Some interesting results on mixtures and their identifiability have been obtained by Teicher ([2], [3]). The problem on mixtures can be also viewed as a problem on compound distributions. In this paper, some results on mixtures are obtained essentially by the use of the Laplace transform. At the end, three plausible definitions of a general character are suggested for the bivariate generalizations of a univariate distribution of the given form.

#### 2. Results

Let x and y be two random variables which may be continuous, discrete or mixed. Let  $f_{x|y}(x|y)$ ,  $f_y(y)$ ,  $f_x(x)$  be the conditional p.d.f. of x given y, the marginal p.d.f. of y and that of x respectively. Given  $f_x(x)$  and  $f_{x|y}(x|y)$ , the bivariate p.d.f. given by  $f_{x,y}(x,y)=f_y(y)\cdot f_{x|y}(x|y)$  can be found once one obtains  $f_y(y)$  and it is obvious that  $f_{x,y}(x,y)$  is unique if  $f_y(y)$  is unique. We give a theorem here for the continuous case. Other cases can be treated similarly.

THEOREM 1. Given  $f_x(x)$  and  $f_{x|y}(x|y)$ , a sufficient condition for  $f_y(y)$  (and hence for  $f_{x,y}(x,y)$ ) to be unique is that the conditional p.d.f. of x given y is of the exponential form

(1) 
$$f_{x|y}(x|y) = \exp [y A(x) + B(x) + C(y)]$$

where an interval is contained in the range of A(x).

PROOF. It is well-known that

<sup>\*</sup> Part of the work on this paper was carried out while the authors held the fellowship of the Summer Research Institute of the Canadian Mathematical Congress.

(2) 
$$\int f_{x|y}(x|y)f_{y}(y)dy = f_{x}(x)$$

which because of (1), reduces to

(3) 
$$\int \exp \left[y A(x)\right] \phi(y) dy = \psi(x)$$

where

$$\phi(y) = f_v(y) \exp \left[ C(y) \right]$$

and

$$\phi(x) = f_x(x) \exp\left[-B(x)\right].$$

Now, for given  $f_x(x)$  and  $f_{x|y}(x|y)$ ,  $\phi(x)$  is known and by the uniqueness of the inverse Laplace transform,  $\phi(y)$  and therefore  $f_y(y)$  can be determined uniquely.

THEOREM 2. For a bivariate distribution of x and y, where x and y are not independent, the following hold:

$$(ii) \quad x \quad Poisson \quad \Rightarrow \quad x|y \quad is \quad not \quad Poisson$$

$$(ii) \quad x|y \quad Poisson \quad \Rightarrow \quad x \quad is \quad not \quad Poisson$$

PROOF. That the Poisson distribution cannot be obtained by compounding two Poisson distributions has been obtained by Teicher [2]. We obtain the result of this theorem as follows:

Let

$$f_x(x) = \frac{e^{-\mu}\mu^x}{x!}$$
,  $x=0, 1, 2, \cdots$ 

and

$$f_{x|y}(x|y) = e^{-\lambda(y)}[\lambda(y)]^x/x!$$
.

Denoting the m.g.f.'s of x and  $x \mid y$  by  $M_x(t)$  and  $M_{x\mid y}(t)$ , respectively, we have

$$\sum M_{x|y}(t) f_y(y) = M_x(t)$$

which, upon writing  $e^{t}-1=s$  where  $-1 < s < \infty$ , gives

$$\sum e^{s\lambda(y)} f_y(y) = e^{\mu s} .$$

(6) implies that, if x and y are not independent (in which case  $\lambda(y)$  depends on y), no solution exists for  $f_v(y)$ . The theorem now follows immediately.

THEOREM 3. For a bivariate distribution of x and y, if the marginal distribution of x is binomial with parameters n and  $p_1$  and the conditional distribution of x given y is binomial with parameters n-y and  $p_2$ , then the marginal distribution of y is binomial with parameters n and  $(p_1/p_2)$  provided  $p_1 \le p_2 \ne 0$ .

PROOF. We note that theorem 1 does not apply here. We offer the following proof. We have

$$f_x(x) = \binom{n}{x} p_1^x (1-p_1)^{n-x}, x=0, 1, 2 \cdots n; 0 < p_1 < 1$$

and

$$f_{x|y}(x|y) = {n-y \choose x} p_2^x (1-p_2)^{n-y-x}, x=0, 1, 2 \cdots n-y; 0 < p_2 < 1.$$

Now,

(7) 
$$\sum_{y=0}^{n} f_{x|y}(x | y) f_{y}(y) = f_{x}(x)$$

Multiplying (7) by  $t^x$  and summing over x, gives the identity in factorial m.g.f.'s as

(8) 
$$\sum_{y=0}^{n} (p_{1}t+q_{2})^{n-y}f_{y}(y) = (p_{1}^{t}+q_{1})^{n},$$

where  $q_i=1-p_i$ , i=1, 2. To establish the uniqueness of the solution for  $f_{\nu}(y)$ , assume that  $g_{\nu}(y)$  satisfies (8). Letting  $d(y)=g_{\nu}(y)-f_{\nu}(y)$ , we have

(9) 
$$\sum_{y=0}^{n} \sum_{k=0}^{n-y} a(k, y)t^{k} d(y) = 0,$$

where

$$a(k, y) = {n-y \choose k} p_2^k q_2^{n-y-k}$$
.

It follows from (9) that for every k, one has

$$\sum_{y=0}^{n} a(k, y)d(y) = 0$$
,  $k=0, 1, 2, \cdots n$ 

which yields a system of (n+1) homogeneous equations linear in d(y). The coefficient matrix is triangular and it can be easily verified that its determinant is  $\pm p_1^{\frac{n(n+1)}{2}} \neq 0$ . Hence d(y)=0 and the solution of  $f_y(y)$  is unique. It can be verified that the solution is given by

$$f_y(y) = \binom{n}{y} \left(1 - \frac{p_1}{p_2}\right)^y \left(\frac{p_1}{p_2}\right)^{n-y}, \quad \text{where } \frac{p_1}{p_2} \leq 1.$$

THEOREM 4. For a bivariate distribution of x and y, if the marginal distribution of x is the Beta distribution of the second kind with parameters a and b and the conditional distribution of x given y is a Pearson Type III distribution with parameters y and a (y being the scale parameter), then the marginal distribution of y is a Pearson Type III distribution with parameters 1 and b.

PROOF.

Let 
$$f_x(x) = \frac{1}{B(a, b)} \frac{x^{a-1}}{(1+x)^{a+b}}, 0 < x < \infty$$

and

$$f_{x|y}(x|y) = \frac{e^{-yx}y^ax^{a-1}}{\Gamma(a)}$$
,  $y > 0$ .

Using (2), we obtain

$$\int_{0}^{\infty} e^{-yx} \phi(y) dy = \frac{\Gamma(a+b)}{\Gamma(b)} \cdot \frac{1}{(1+x)^{a+b}}$$

and by the uniqueness theorem of the Laplace transform

$$\phi(y) = \frac{e^{-y}y^{a+b-1}}{\Gamma(b)} ,$$

and therefore

$$f_{y}(y) = \frac{e^{-y}y^{b-1}}{\Gamma(b)}.$$

COROLLARY. If we replace the word "Beta distribution" in theorem 4 by "Pareto distribution" the results of the theorem hold.

In particular if we let  $f_x(x) = \frac{\alpha^{\lambda} e^{-\alpha x} x^{\lambda-1}}{\Gamma(\lambda)}$ , x>0

and 
$$f_{x|y}(x|y) = \frac{(y+\alpha)^{\lambda+1}e^{-x(y+\alpha)}x^{\lambda}}{\Gamma(\lambda+1)}, \quad \lambda > 0, \quad x, \quad y > 0,$$

using the same arguments it can be shown that

$$f_{y}(y) = \frac{\lambda}{\alpha} \left( \frac{\alpha}{y+\alpha} \right)^{\lambda+1}$$
: the Pareto distribution.

Finally we consider two exponential distributions discussed by Gumbel [1].

THEOREM 5. For a bivariate distribution of x and y, if the marginal distribution of x is exponential and the conditional distribution of x given y is  $f_{x|y}(x|y) = e^{-x(1+\delta y)}[(1+\delta x)(1+\delta y)-\delta]$ ,  $0 \le \delta \le 1$ ,  $x \ge 0$ ,  $y \ge 0$ , then the marginal distribution of y is unique and is the exponential distribution.

PROOF. Let  $f_x(x) = e^{-x}$ ,  $x \ge 0$ 

and

$$f_{x|y}(x\,|\,y)\!=\!e^{-x(1+\delta y)}[(1+\delta x)(1+\delta y)\!-\!\delta]$$
 ,  $x\!\ge\!0$  ,  $y\!\ge\!0$  ,  $0\!\le\!\delta\!\le\!1$  .

Using (2), we have the following integral equation:

$$\int_0^\infty e^{-x(1+\delta y)} [(1+\delta x)(1+\delta y)-\delta] f_y(y) dy = e^{-x}.$$

Putting  $\theta = \delta x$ , we have

$$(1+\theta-\delta)\!\int_0^\infty\!e^{-\theta y}\!f_y(y)dy+(1+\theta)\delta\!\int_0^\infty\!ye^{-\theta y}\!f_y(y)dy=1\;.$$

Writing  $h(\theta) = \int_0^\infty e^{-\theta y} f_y(y) dy$ , we obtain a linear differential equation of the first order  $(1+\theta)\delta \cdot h'(\theta) - (1+\theta-\delta)h(\theta) + 1 = 0$ . Since h(0)=1, the solution of the above equation is clearly  $h(\theta) = 1/(1+\theta)$  and hence, by the uniqueness theorem of the Laplace transform,

$$f_{\nu}(y)=e^{-y}, y\geq 0.$$

THEOREM 6. For a bivariate distribution of x and y if the marginal distribution of x is exponential and the conditional distribution of x given y is

$$f_{x|y}(x|y) = e^{-x}(1 + \alpha - 2\alpha e^{-y}) - 2\alpha e^{-2x}(1 - 2e^{-y}),$$
  
 $-1 \le \alpha \le 1, x \ge 0, y \ge 0,$ 

the marginal distribution of y is not unique.

PROOF. By theorem 1 we obtain the following integral equation for  $f_{\nu}(y)$ :

$$\int_0^\infty [e^{-x}(1+\alpha-2\alpha e^{-y})-2\alpha e^{-2x}(1-2e^{-y})] f_y(y) dy = e^{-x}.$$

Upon simplification we have

$$\int_0^\infty e^{-y} f_y(y) dy = \frac{1}{2} .$$

In this case  $f_{\nu}(y)$  is not unique.

## 3. Bivariate generalization of a univariate distribution

There can be several ways of defining the bivariate generalization of a univariate distribution of the given form. Therefore setting up plausible definitions of a general character for a bivariate generalization can be a meaningful problem. In the light of the results of this paper we offer here three such possibilities. Let the random variable  $x \in P$ , the family of univariate distributions of a given form. Let (x, y) be a bivariate random variable under consideration.

DEFINITION 1. The bivariate random variable (x, y) is said to belong to BP, the family of distributions constituting the bivariate generalization of the given form if

- (i)  $x \in P$
- (ii)  $x|y \in P$  and
- (iii) x and y enjoy symmetry with respect to (i) and (ii), i.e., the marginals and the conditionals of (x, y) belong to P.

DEFINITION 2. The bivariate random variable (x, y) is said to belong to BP if

- (i)  $x \in P$
- (ii) x and  $x \mid y$  recover (x, y) uniquely, and
- (iii) x and y enjoy symmetry with respect to (i) and (ii), i.e., the marginals of (x, y) belong to P and the knowledge of the marginal and the conditional of each component determines the bivariate distribution of (x, y) uniquely.

DEFINITION 3. The bivariate random variable (x, y) is said to belong to BP if (i)  $x \in P$  and (ii)  $y \in P$ , i.e., the marginals of (x, y) belong to P.

Remarks: (i) Consistent with all definitions 1, 2 and 3, the traditional forms of the bivariate normal and bivariate binomial distributions are, in view of theorems 1 and 3, bivariate generalizations of univariate normal and binomial distributions respectively.

- (ii) In view of theorem 2 of this paper, there connot be a bivariate generalization of the Poisson distribution consistent with definition 1.
- (iii) The bivariate distribution determined by theorem 5 of this paper can be labeled bivariate exponential distribution consistent with definition 2 and definition 3 and not 1.

(iv) The bivariate distribution determined by theorem 6 with  $f_{\nu}(y) = e^{-\nu}$  could not be labeled bivariate exponential distribution according to definition 1 and definition 2.

McGill University

### REFERENCES

- [1] E. J. Gumbel, "Bivariate exponential distributions," J. Amer. Statist. Ass., Vol. 55 (1960), pp. 698-707.
- [2] H. Teicher, "On the mixture of distributions," Ann. Math. Statist., Vol. 31 (1960), pp. 55-73.
- [3] H. Teicher, "Identifiability of mixtures," Ann. Math. Statist., Vol. 32 (1961), pp. 244-248.